RE&mH FR25F6ADEFEAN

A0 110,566 (-30)
5 53,673 (-13)
Z 56,893 (-17)
HFEE 44,0315 (+38)

x () AFRETAL
XIERG25F6H18RE

Rl AOZX Frk2566H1H

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 425 3 187 2 238 1 183 2
ELH] 211 0 98 0 113 0 75 0
E=H] 132 1 61 1 71 0 59 1
KEH] 38 0 15 0 23 0 18 0
WNEL] 13 0 4 0 9 0 6 0
] 86 0 37 0 49 0 26 0
Eayestil] 49 -1 7 0 42 -1 6 -1
P L ] 507 1 273 2 234 -1 290 -2
VR H] 25 0 14 0 11 0 16 0
1 H] 195 -1 85 0 110 -1 90 -1
= =[] 176 0 95 -1 81 1 95 -1
] 229 -2 115 -1 114 -1 122 -1
ZH] 157 0 71 0 86 0 68 0
& SHT 482 -1 241 -2 241 1 235 -1
FFrH] 78 0 36 0 42 0 44 0
1GRaH] 109 0 52 0 57 0 41 0
FASEH] 164 -2 78 -2 86 0 91 -2
—&T 0 0 0 0 0 0 0 0
NET 109 0 52 0 57 0 53 0
T&ET 138 -1 66 0 72 -1 55 0
N&ET 84 2 38 1 46 1 37 1
NET 162 -2 65 -1 97 -1 32 0
T&ET 254 -2 94 -2 160 0 121 0
1ok ] 366 2 160 2 206 0 187 1
SiEH] 2,578 -21] 1,258 -10f 1,320 -11f 1,081 -4
RFRE] 3,471 0| 1,668 1 1,803 -1 1,372 -2
] 1,587 -1 782 -1 805 0 581 2
B a)=<tiil) 1,809 0 931 -1 878 1 795 4
FrERHE] 425 2 195 0 230 2 182 1
FHATHT 3,638 9] 1,826 5( 1,812 4 1,610 6
LLAEHT 2,403 2| 1,145 -1 1,258 3 987 4




VEIRH] 2,036 14 976 3] 1,060 11 644 3
Ll e 4,856 -8 2,385 -5 2,471 -3 1,902 3
JFEET R 2,173 -4] 1,064 of 1,109 -4 866 -3
EBZRHE] 9,499 18| 4,638 -91 4,861 -91 3,638 2
=2kH] 4,008 23| 1,954 12 2,054 11 1,519 9
[ EHET 1,157 13 598 7 559 6 481 4
EREFHIER — 2,601 -6 1,238 2( 1,363 -8 896 0
EREFHTERS) 1,840 -2 886 1 954 -3 654 -3
EREFHT PG 7> 597 -1 294 0 303 -1 212 0
Er7KH] 5,672 -5 2,691 1 2,981 -6| 1,957 -1
g lii) 167 0 161 0 6 0 158 0
ERH] 23 0 14 0 9 0 13 0
ETRE—TH 397 0 208 -1 189 1 179 -1
ETREIZTH 294 -1 126 -1 168 0 139 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 236 0 113 2 123 -2 77 1
rES 0 0 0 0 0 0 0 0
TEE—TH 415 4 194 1 221 3 189 3
TEEZTH 729 5 350 2 379 3 338 1
TEE=TH 309 7 151 3 158 4 141 2
WERAT—TH 485 3 224 1 261 2 230 -1
RERE—TH 691 -4 320 0 371 -4 330 -1
EE=TH 415 1 207 -1 208 2 219 1
EMPRET—T B 323 -4 136 -2 187 -2 148 -1
Gl = 503 3 239 2 264 1 244 3
JtFEILE—TH 180 0 83 0 97 0 87 0
JtFEILETZTH 406 -4 188 -1 218 -3 180 -2
AR —TH 279 -2 147 -2 132 0 148 0
AR —TH 457 1 235 1 222 0 248 -1
FEH—TH 132 0 62 0 70 0 57 0
FZHZTH 334 0 154 -1 180 1 159 -1
[REEIH 311 -1 145 0 166 -1 219 0
wFEE—TH 125 2 61 0 64 2 63 1
RFEE =T H 266 1 112 1 154 0 96 0
RAEI—TH 458 -3 210 -1 248 -2 175 -2
FREIZTH 383 1 179 1 204 0 159 0
RREI=TH 524 6 247 2 277 4 229 1
FRAFETI T H 406 1 181 1 225 0 164 0
FRETRTH 594 -2 259 1 335 -3 221 -1
FuRE—TH 212 -2 117 -2 95 0 103 -1
FUEEI”TH 379 -3 221 -3 158 0 217 -3
HIIEEE—TH 457 -3 222 -3 235 0 215 -2




HIGEAI”TH 323 -6 150 -3 173 -3 131 0
BRE—TH 159 4 81 4 78 0 83 4
BRI "TH 630 -3 296 -1 334 -2 288 0
BRE=TH 531 -1 269 -2 262 1 228 -1
BEEMTH 243 -3 107 -3 136 0 101 -2
EEEATH 705 -2 327 0 378 -2 346 -2
Kt —TH 306 9 150 4 156 5 132 2
XK —TH 229 1 113 1 116 0 91 1
AFH—TH 132 -4 64 -2 68 -2 67 -1
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 186 -4 92 -2 94 -2 87 -1
TEEIA—TH 672 0 321 0 351 0 246 2
TEsETFE T H 331 -1 154 0 177 -1 129 0
TEEAR=TH 394 -3 209 -1 185 -2 148 -1
TEEIFEM T B 501 -2 231 -1 270 -1 209 0
TEEAATH 636 0 308 0 328 0 262 1
TEEIPRNT B 361 3 190 2 171 1 170 3
TEsETFEE T H 653 -3 317 0 336 -3 302 -1
TEEIFEA\TH 701 -8 336 -4 365 -4 297 -2
TERER—TH 1,475 3 705 2 770 1 621 1
THREERTTH 409 -1 212 -1 197 0 167 0
TEREIR=TH 684 -1 331 2 353 -3 280 0
TEREIERIUT B 1,137 -4 549 -2 588 -2 457 0
TEHREERATH 993 2 514 1 479 1 505 -1
T2REERANT B 564 4 285 0 279 4 312 2
TEZRERETH 1,500 1 774 2 726 -1 643 5
TARETERNTH 1,222 7 556 3 666 4 572 4
TEREIRAT B 421 2 203 2 218 0 138 1
TEEIE—TH 87 -1 47 0 40 -1 70 -1
TEEIEZTH 104 4 69 2 35 2 80 3
4N st 81,727 -7| 39,703 7| 42,024 -14( 33,638 33
AEH]E 108 -1 47 0 61 -1 69 -1
AEHTA 105 -2 52 -2 53 0 59 -1
AEHERE 13 0 5 0 8 0 10 0
AREHT/NBR 114 2 52 1 62 1 51 0
AEHKH 10 0 5 0 5 0 7 0
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 9 1 3 1 6 0 5 1
45 12 0 4 0 8 0 9 0
AEMIXEEST 445 0 IR 0 246 0 243 il
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 0 17 0 21 0 23 0
[1: SHTER S 30 -1 11 -1 19 0 19 -1
[LERTEAR 60 -1 29 -1 31 0 33 0
[LSHEHH 25 0 14 0 11 0 16 0
NG9 26 -1 17 0 9 -1 17 -1
[LEE/NFS 35 1 16 1 19 0 15 1
FEH] 36 -1 21 -1 15 0 23 -1
[ S EEET 323 -3 160 -2 163 -1 195 -2
SUEERSET 768 -3 359 -2 409 -1 438 -3
TR ET [ A _E 1,369 -6 659 -3 710 -3 484 -2
T2 X T ] EH 721 0 310 -3 411 3 227 1
&R R 1,254 -5 601 -5 653 0 419 0
e 2K T iz E P 1,042 -3 517 0 525 -3 370 -1
e 1,365 0 669 -1 696 1 458 2
e 1,159 1 544 0 615 1 425 2
TN ] = AR 3,952 4 1,918 -1 2,034 5 1,420 -2
TR X ERET 10,862 -91 5,218 -13| 5,644 41 3,803 0
ERILIET_ESREESF 2,119 0 997 -1 1,122 1 695 -3
ERILIE] RSB 2,631 5 1,309 -1 1,322 6 920 5
ERILIETER/)N I 2,043 -7 1,022 -2 1,021 -5 785 -2
BRI BT PaR T 1,532 -6 757 -4 775 -2 517 -1
BRI LI BT iF 1,149 0 568 0 581 0 414 1
ERLLIET) 1R 2,260 -15] 1,115 -6| 1,145 -9 810 -3
ERILIE] R T 5,475 12| 2,625 9] 2,850 3] 2,011 11
BRI [X &R 5T 17,209 -11] 8,393 -5| 8,816 -6| 6,152 8
a 5t 110,566 -30| 53,673 -13| 56,893 -17| 44,031 38




